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Sec 7-3: Binomial Radical Expressions.
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Rememeber the result when you expand Simpilify.
(@+b)@-b)is ALWAYS = a2 -b?
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These factors are called conjugates
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Simplify.
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Rationalize this denominator:

(-%5) . ¥5= _ s - 33

S e 5>

=| x5 -5
5

Simplify.

(742 -5J6)(7J2 +5/6)
oy b

ARG
= Y492 — 254
= 9§-150=| —5¢

Rationalize the denominator. To rationalize a denominator
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involving square roots you
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Conjugate of the Denominator.
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Rationalize the denominator. LI 'f
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You can now finish Hwk #19 Sec 7-3
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Problems 15, 16, 21, 22, 24, 25, 30, 32, 36, 40



